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Question No.1 Marks: 1.00
Bookmark

Ginnorgarh Fort is located in which of the following places in Madhya Pradesh?
AeaikeTe fhe ALT yeor F Meafafad & @ fFg Tue = eua &2
(A) O Indore
$aR
(B) O Gwalior
TqTferax
(C) ® Bhopal (Correct Answer) (Chosen option)
saTer
(D) O Jabalpur
[ECESISEY

P

Question No.2 Marks: 1.00
Bookmark

Who was the first Indian recipient of the Ramon Magsaysay Award?
(AT AIQY GIERR ATCT el dlel TUH HRA hieT 7
(A) O Jawaharlal Nehru
STATEIATS ATl A ®
(B) © Mahatma Gandhi
HETCHT e
(C) ® Vinoba Bhave (Correct Answer) (Chosen option)
fa=rar e
(D) O R.K.Lakshman
3R, . T&HIT

Question No.3 Marks: 1.00
Bookmark

Mangal Pandey was a soldier in which of the following regiments?

FHarer uis, frAfai@d # & fra Wase & dfasw a2

(A) O 5" Royal Gurkha Rifle
53 Jferer aiT T

(B) @ 34th Bengal Native Infantry (Correct Answer) (Chosen option)
347 garrer ayer forarel sethd

(C) O Madras Light Cavalry
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HETH ST o (31RTHT)

(D) O 107t Bengal Infantry Regiment
1077 sarmer 3T Yfoae

Question No.4 Marks: 1.00

Bookmark
Dumbhal is the folk dance of which of the following places in India?

sHg, IR H He{afld # @ fohg T &7 ol 777 87

(A) ® Jammu and Kashmir (Correct Answer) (Chosen option)
A 3R FeAR

(B) O Gujarat
EIS RG]

(C) O Assam
J8H
(D) O Jharkhand

SIRYEUs

Question No.5 Marks: 1.00

Bookmark
Who was the first Chief Justice of Independent India?

TIAT N & Ggol HTT wIIATERe HieT 7

(A) O Hon'ble Justice Sudhi Ranjan Das

(B) @ Hon'ble Justice Harilal Jekisundas Kania (Correct Answer) (Chosen option)
AT =Tl gRerer AfFgaera Hiaan

(C) © Hon'ble Justice M. Hidayatullah

(D) O Hon'ble Justice Bijan Kumar Mukherjea
AT ~AGH T TSl HAR FGoil

Question No.6 Marks: 1.00

Bookmark
Bharveli Mines is located in which of the following places in Madhya Pradesh?

RN Wt ALY w2 # Reifafad & @ v vue W feua &2
(A) @ Balaghat (Correct Answer) (Chosen option)
CIGIBIA
(B) O Sagar
3IEIES
(C) O Satna
RRGIH
(D) O Ujjain
3ootel

Question No.7 Marks: 1.00
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Bookmark
Kodaikanal is a hill station located in which of the following states of India?
FISSHATT HRA & AT TET H § T ToT H U T fgol T g7
(A) O Maharashtra
HERTSG
(B) O Karnataka
Sellcen
(C) O Himachal Pradesh
AT g
(D) @ Tamil Nadu (Correct Answer) (Chosen option)
affraeng
Question No.8 Marks: 1.00
Bookmark
In which year did Madhya Pradesh become the 23" associate member underwings of
Hockey India?
Feveer, g 9y 3 grhr SfaT & 237 el HeEy I4T?
(A) @ 2014 (Correct Answer) (Chosen option)
2014
(B) O 2010
2010
(C) O 2016
2016
(D) O 2018
2018
Question No.9 Marks: 1.00
Bookmark
Yaoshang festival is native to which of the following places in India?
I BN AR o AT TATA 7 v e T o {T [Harfaal & @eafed g2
(A) @ Manipur (Correct Answer) (Chosen option)
AT
(B) O Maharashtra
HeNISC
(C) O Assam
raH
(D) © West Bengal
qiegs FaTrer
Question No.10 Marks: 1.00
Bookmark
In which year was Neemuch declared as a separate district?
g I forg a¥ 7 e 31eeT Srem a1 forar I ar?
(A) O 1995
1995
(B) @ 1998 (Correct Answer) (Chosen option)
1998
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(C) O 1999
1999

(D) O 1997
1997

Question No.11 Marks: 1.00
Bookmark

Aadharkaanch village, known for the traditional 'Galsan Maala' of beads and inhabited
by Bhils and Bhilalas is in which of the following districts of Madhya Pradesh?

JTURHIA ITF, AT I IRIARS T AT & TIT ST ST & Ta et 3R efrerema
SR SETIT 31T § | g 9T 7L Y& & fAoifaiad & ¥ v ooy & Rua &7
(A) O Bhind
s
(B) O Dhar
310y

(C) @ Alirajpur (Correct Answer) (Chosen option)
ARSI

9

(D) O Satna
RRGIH

Question No.12 Marks: 1.00
Bookmark

Who among the following is a known choreographer and educator of Indian classical
dance, known for his pioneering work in the field of Kathak, and a recipient of the Padma
Shri Award 2020 in the field of Art?

HRA ATEAT 5]c o Teh GTAg HIRATATHR 3R RNeTeh [Feaafeli@d 7 § hieT 8, 5T e &
& 7 371970l R & fOT SiTet ST §, 3R oholl & &7 & 037 4 GTEhR 2020 & HTeciehell 872
(A) O Manohar Devadoss

AR Gaard
(B) O Shashadhar Acharya

QLT ARy
(C) @ Purushottam Dadheech (Correct Answer) (Chosen option)

e Ica# ardfie
(D) O Utsav Charan Das

3c8d TOT T

Question No.13 Marks: 1.00
Bookmark
In which of the following places do the Alaknanda and Bhagirathi rivers combine to form
Ganga?
Arfaf@a & & e T 9T 3rerenster 3R AriRedT Afear e 319 ST §2
(A) O Rudraprayag
SGUTIT
(B) O Rishikesh
FIqher

(C) O Haridwar
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ghear

~

(D) @ Devprayag (Correct Answer) (Chosen option)
Lerpin

Question No.14 Marks: 1.00

Bookmark
Colliery Stadium is located in which of the following places in Madhya Pradesh?

FITTY TRTH ALy g & Refaf@d & & fre e R a2
(A) O Dewas
cara
(B) @ Birsinghpur (Correct Answer) (Chosen option)
fRR¥TR
(C) O Dhar
31y
(D) © Malwa
HTeldT

Question No.15 Marks: 1.00

Bookmark
Which company has bagged the award for Best Organization Contributing in Sports
Through CSR at the FICCI India Sports Awards 20207?

fOrerhr ST TANEH 3ATSH 2020 H HTHIR & ATEIH H Wl H HIASS HISe JHGIA &
v Farer it T RER T £2
(A) O Wipro Limited
faor fafaes
(B) O Infosys Limited
shITay fafAcs
(C) @ Tata Steel (Correct Answer) (Chosen option)
e ¥ e
(D) O Reliance Industries

Rerrad gs&rar

Question No.16 Marks: 1.00

Bookmark
Who among the following bagged the Lifetime Achievement Award at the FICCI India
Sports Awards 20207?

fAeIforiad 7 & fohaet fherehT 339 TICH 3/a1sd 2020 F FsHesH Idgdce 37a1s ured
faar?
(A) O Sania Mirza
arferar fasT
(B) O P.\V.Sindhu
o &, iy
(C) O Mithali Raj
[GEICIKE]

(D) ® Manjusha Kanwar (Correct Answer) (Chosen option)
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HoWT HaT

Question No.17 Marks: 1.00

Bookmark
Which state bagged the top rank under the category of 'UT and City-States' in the India
Innovation Index declared by NITI Aayog?

AT 3T ST BN 3R AT Ferehieh H v T o ‘She; a1flie weer (Féh) 3R
AT (Fr-wee) & Aol 7 oY T grea fohar?
(A) @ Delhi (Correct Answer) (Chosen option)
feeelt
(B) © Daman and Diu
CE I ITCAC
(C) O Lakshadweep
BLCCIR
(D) O Chandigarh
EE{CI

Question No.1 Marks: 1.00
Bookmark

f&&r acieh & feaAnTaR feafaf@a # @ e Rafa & sifaria: grswe & v far
ST 872

A) O Fga ereat & dra
(B) O aat sycremiforen fopam o gy @
©@® qaaamﬁ (Correct Answer) (Chosen option)

D) O forar stk sl & Sy

Question No.2 Marks: 1.00
Bookmark

‘5’ TAAVUT ereg T ScdATTTAT -

(A) ® sszaar (Correct Answer) (Chosen option)
B) O gvaax

€O T3

(D) O Asadr
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Question No.3 Marks: 1.00
Bookmark

o1 T GTFAAT H HIA-TT T 3TTPR FHT 3GI8I0T 52

(A) O ey o et gt Ry e

(B) © gaar ura &Y diT gt (Correct Answer) (Chosen option)
©C)O o dr sifaerT e

D) O ggwmrEardw

Question No.4 Marks: 1.00
Bookmark

T@Tﬁma@@r%ﬁvwamwwm—mmﬁmgﬂmwml
(A) O forse
B) O I

€O gw

D) ® w= (Correct Answer) (Chosen option)

Question No.5 Marks: 1.00
Bookmark

fore @@ # 2 gel &t fAea T7 AT Keg 1 JAreT foham ST 672
(A) O &fae wAE

(B) O zaga wamwr (Correct Answer)

(C) ® 3rceframa @AM (Chosen option)

D) O sgafe womra

Question No.6 Marks: 1.00
Bookmark

a8 G Fe! fh| AT FT
fSHa 34Tl T T AT
a8 G F! fh| AT FT
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3T GF U & FIH AETI
&Y IS 9P & Sla-ar W 8?2

A) O erigwa
(B) O Feorwm
©C)® iR (Correct Answer) (Chosen option)

(D) O BT

Question No.7 Marks: 1.00
Bookmark

FTAROT 2Teg; T A faesse g -

(A) O zer+aror

(B)@® IJ+IRT (Correct Answer) (Chosen option)
€) O z=g+3mor

(D) O zg+aror

Question No.8 Marks: 1.00
Bookmark

‘3T Teg T 1T fashoul & & Tohet & ATY Tgercl &1 Hehell 87
(A) O s
(B) ® gHsT (Correct Answer) (Chosen option)

Question No.9 Marks: 1.00
Bookmark

“HIC-HTE T Tl UIAT HETaR l T 379 8-

(A) O 31 ot & o701 e

(B) O
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TS o T
©) O 3535 At &1 o7t drar

D) ® gar T 3T qred g14T (Correct Answer) (Chosen option)

Question No.10 Marks: 1.00
Bookmark

forar get & faAYar Iam= arel ug shgara §-

A ® FHTIISES (Chosen option)

(D) O fmr-Ryaiwor (Correct Answer)

Question No.11 Marks: 1.00
Bookmark

(A) O F9aT

(B) O Tty

©€)® gerx (Correct Answer) (Chosen option)

D) O Frr

Question No.12 Marks: 1.00
Bookmark

fAfafld 3 & Sl-3 areg 1 Tl g 87
A O 3rerrer

B) O sefafm

©) O s

D) ® zfass (Correct Answer) (Chosen option)
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Question No.13 Marks: 1.00
Bookmark

fArfof@a # & sia-ar v adATeT i &7 85 761 672
(A) O Farrea ad#TeT

(B)O ot adae

©) O gfeser adamT

e Waﬁﬂm (Correct Answer) (Chosen option)

Question No.14 Marks: 1.00
Bookmark

e # AT 3T W A ot & oI TohaT I5dT &, ST Sohel oh TATA I FIT hgd 672
(A) ® FfY (Correct Answer) (Chosen option)

(B) O ug

©) O ofy

®O g%

Question No.15 Marks: 1.00
Bookmark

‘TISEIUT o foIT T SATeY aTell geFded’ & foIT Ueh Use, 4T &7

A ® fagfer (Correct Answer) (Chosen option)
(B) O fyegea
(€O faa

D) O faaren

Question No.16 Marks: 1.00
Bookmark

AT e, 3 Hlel-HT S TIFA §IT 82

(A) © ga1s¥ (Correct Answer) (Chosen option)
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®) O g

©)O g

D) O g

Question No.17 Marks: 1.00
Bookmark

i@ 7 & sia-ar ereg 312 &1 fAudards g2
(A) ® =f¥ (Correct Answer) (Chosen option)
B) O fae

©)O gem

D) O 3req

Question No.1 Marks: 1.00
Bookmark

Fill in the blanks with the suitable tense in the given sentence:

The radio in 1948. As a result of this, both the size and the cost of electronic
equipment greatly reduced.

(A) @ was invented , have been (Correct Answer) (Chosen option)
(B) O had been invented , has been
(C) O was invented , have had

(D) O bhad invented , will be

Question No.2 Marks: 1.00

Bookmark
Fill in the blanks with the suitable tense in the given sentence:

Rohan’s clothes are looking dirty because he the house all morning.

(A) O will have cleaning
(B) O will be cleaning

(C) O had been cleaned
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(D) ® has been cleaning (Correct Answer) (Chosen option)

Question No.3 Marks: 1.00
Bookmark
Choose the correct sequence of the sentences given below to construct a meaningful
paragraph.
i. They carry tiny pieces of a leaf to their nests.
ii. They also seem to be as intelligent as human beings.
iii. Ants, like bees, are very hard-working.
iv. On these beds grow a kind of food, which is the food of ants.
v. There they chew them up very nicely to make beds of chewed-up leaves.

(A) O v, v, iii, i, i
(B) O 1, ii, v, iii, iv
(C) @ iii, ii, i, v, iv (Correct Answer) (Chosen option)
(D) O i, iv, i, iii, v
Question No.4 Marks: 1.00
Bookmark
Choose the option that shows the correct change in voice for the given sentence:
Who taught you how to ride a bike?
(A) O By whom were you being taught to ride a bike?
(B) ® By whom have you been taught how to ride a bike? (Chosen option)
(C) O You were taught how to ride a bike by whom?
(D) O By whom were you taught how to ride a bike? (Correct Answer)
Question No.5 Marks: 1.00
Bookmark

Fill in the blank with the correct word in the given sentence:

The president with his wife _ just left for the global conference.
(A) O were

B) O are

(C) ® has (Correct Answer) (Chosen option)

(D) O have
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Question No.6 Marks: 1.00
Bookmark
Fill in the blank with the correct determiner in the given sentence:
time and money is spent on education in Finland.
(A) O More
(B) ® Much (Correct Answer) (Chosen option)
(C) O Quite
(D) O Enough
Question No.7 Marks: 1.00
Bookmark
Out of the following, identify the incorrect sentence.
(A) @ Either of the alternatives seem to present major difficulties. (Correct
Answer) (Chosen option)
(B) O One of the cars in the garage is fifty years old.
(C) O Mitali's hair is long and black.
(D) O Sharon has six brothers.
Question No.8 Marks: 1.00
Bookmark
Fill in the blank with the correct conjunction in the given sentence:
Congratulations on your results!
(A) O outward
(B) O outspoken
(C) O outsmart
(D) ® outstanding (Correct Answer) (Chosen option)
Question No.9 Marks: 1.00
Bookmark
Choose the option that best combines the given sentences.
This is a funny poem. It is about a man. He invited himself to a fox’s wedding.
(A) O This is a fun poem of a fox inviting himself to a man’s wedding.
(B) O This is a funny poem about a man who invited himself to a fox’s wedding.
(Correct Answer)
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(C) O This is a funny poem of a man who'’s invited himself to a fox’s wedding.
(D) @ This is a funny poem about a man who was invited to a fox’s wedding. (Chosen
option)
Question No.10 Marks: 1.00
Bookmark
Fill in the blank with the correct form of the verb in the given sentence:
| can't really stand in long queues.
(A) O waits
(B) O waited
(C) O wait
(D) @ waiting (Correct Answer) (Chosen option)
Question No.11 Marks: 1.00
Bookmark
Out of the following, choose the word with the incorrect spelling.
(A) O Played
(B) ® Acompaniment (Correct Answer) (Chosen option)
(C) O Performance
(D) O Interviewed
Question No.12 Marks: 1.00
Bookmark
Fill in the blanks with the suitable article in the given sentence:
British people are often polite. British people | know are very reserved.
(A) O The, the
(B) O No article, no article
(C) @ No article, the (Correct Answer) (Chosen option)
(D) O The, a
Question No.13 Marks: 1.00
Bookmark
Parts of the sentence have been underlined, choose carefully from the options below to
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improve the sentence structure:

If you fall ill, you will bring_it out in yourself by going on a crash diet.

(A) O has brought off
(B) O has brought in
(C) @ bring it upon (Correct Answer) (Chosen option)

(D) © brought it upon

Question No.14 Marks: 1.00

Bookmark
Choose the option that best fills in the given sentence:

Let's have dinner outside, ?
(A) O will we

(B) O should we

(C) O won't you

(D) ®@ shall we (Correct Answer) (Chosen option)

Question No.15 Marks: 1.00

Bookmark
Fill in the blank with a suitable preposition in the given sentence:

Samy should rewrite the introduction __ her essay.
(A) O with

(B) O through

(C) O from

(D) ®@ of (Correct Answer) (Chosen option)

Question No.16 Marks: 1.00

Bookmark
Fill in the blanks with the suitable preposition in the given sentence:

We've neither been ___ the theatre, nor __ the cinema ___ along time.
(A) O with, at, for

(B) O on,to, at

(C) O at, with, on
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(D) @ to, to, for (Correct Answer) (Chosen option)

) Marks:
Question No.1 1.00

Bookmark

In fig, £ M = £N = 46° express x in terms of a, b, c where a, b, ¢ are the lengths of LM, MN,
and NK respectivelv?

M b N c K

AT H, 2M = 2N =46° §la,b,c & TEH # x F oAFd H{ 61 2. b. ¢ FME: LM, MN
3 NK &1 samsar 87

M b + N - K
(A) @ | ac

b+ ¢ | (Correct Answer) (Chosen option)

(B) O ab
b+c

ab
b+c¢

©C)O &

a+c

ac

ate

D)O ac
b+a
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Qs
b+a
Question No.2 Marks: 1.00
Bookmark
What will be the length of the line segment if its projections on the x — axis, y — axis and
z — axis are 3, 4 and 12 respectively?
e x 3187, y - 37187 3R z - 3787 I W&IT (NSiTRU) FHH: 3, 4 3R 12 &1 Y W1 T3 F a1s
7 gref?
(A) O 317
317
B)O 5
5
(C) @ 13 (Correct Answer) (Chosen option)
13
D) O 10
410
Question No.3 Marks: 1.00
Bookmark
Solve the equation:
2
4x 3y 2x 3y
HHHIUT T gl Y
,}
i + i = i = |
4x 3y Zx. 3y
(A) O 20 1
X=—L V=g
3 2
20. 1
= E—. —?}? =
3 2
(B)O s 3
X=sV=—
20
i 3
X =2 :_l = —
20
€O T |
== it P
20 T2
== 1
X=—01Vv=—
20 2
(D) ® . |
x=—:y=2|(Correct Answer) (Chosen option)
207
X= i yp=2
20
Question No.4 Marks: 1.00
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Bookmark
A dice is thrown once. Find the Probability of getting a number divisible by 27

U UTH &Y Teh I hehl STaT &1 2 T TTHTST gley aTell TEAT & 31TeT T WIiehdr A1 Fifard?

(A) @ 1/2 (Correct Answer) (Chosen option)
1/2

(B) O 1/3
13

(C) O 5/6
5/6

(D) O 1/6
1/6

Question No.5 Marks: 1.00
Bookmark
Find two numbers whose sum is 27 and product is 1827

ar HEATE AT Y fotetent Ater 27 § 3 OTehe 182 §7
(A) O 12,13
12,13
(B) @ 13,14 (Correct Answer) (Chosen option)
13,14
C)O 11,12
11,12
(D) O 14,15
14,15

Question No.6 Marks: 1.00
Bookmark
If the sum of first three terms of a G.P is to the sum of the first six terms of same G.P is
as 125 :152. Find the common ratio of the G.P?

I forelt aoieay Ao & werat dfier gel & et & FATST uieay A0 & TH B Tal & e
125 :152 8, @t J[ONcaR AUT T A 39T AT HITTT?

(A) O 1/5
1/5

(B) O 31/51
31/51

(C)O 2/5
2/5

(D) @ 3/5 (Correct Answer) (Chosen option)
3/5

Question No.7 Marks: 1.00

Bookmark
Find the center O of the circle passing through the points P(4,6), Q(8,2) and R(8,6).

god & sheg O 1 AT Y, S f4=g3il P(4,6), Q(8,2) 3R R(8,6) & glhT IoRT &
(A) @ (6,4) (Correct Answer) (Chosen option)
(6,4)
(B) O (1,8)
(1,8)
(C) O (0,0)
(0,0)
(D) O (4,6)
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Question No.8 Marks: 1.00
Bookmark

Four circles of radius 1 cm each is arranged as in the figure. Find the area of the square in
square cm.

4 2y

. ]

R e e i e el A b b R = R E o e TR e A e e i e e e

s h

N ]
(A) O

2
2
(B)O 4
4
(C) ® 16 (Correct Answer) (Chosen option)

16

Dd)O 8
8

Question No.9 Marks: 1.00
Bookmark

Find the median from the table below:

0-10 10-20 20-30 30-40 40-30 30-60 60-70
4 7 10 i g 5

#r &7 ST affereel | ArfEgE & @ &

0-10 10-20 20-30 3040 40-30 30-60 60-70
4 4 7 10 12 3 5

(A) @ 40 (Correct Answer) (Chosen option)
40

(B) O 36
36

(C)O 38
38

(D)O 39
39

Question No.10 Marks: 1.00
Bookmark
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Matrix [1 211_32 2] {%1 is equal to

Feqp (#HizEE) (1 2][_32 g} [;] & et g
(A) ® [2 2] (Correct Answer) (Chosen option)
[22]

B)O [122]
[122]
(C)O [11]
[11]

(D) O [23]
[23]

Question No.11 Marks: 1.00
Bookmark
If the n'" term of an arithmetic progression is 7n-2 then its sum to n terms is:
Ife T AT Aot 71 nT' gg 7n-2 § A TS n Y& T FT AT &
(A) O

%(?nzﬁnj (Correct Answer)

%(?nLE 1)

(B) O 7n2-2n
7n2-2n

© 0O Zame)

T pR—
= a7y
2(’}'11 +2)

(D) ® 7n2-3n (Chosen option)
7n2-3n

Question No.12 Marks: 1.00

Bookmark
In how many years will Rs. 4000 amount to Rs. 5324 at 10%compound interest?

10% Tehdieg sTTsT 9T fohctal ST # 4000 FUT & 5324 TV g1 STIN?
(A) @ 3 years (Correct Answer) (Chosen option)
3 |rel
(B) O 2years
2 "ret
(C) O 2.5years
2.5 41T
(D) O 3.5years
3.5 |ret

Question No.13 Marks: 1.00
Bookmark
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24242 —2% thenfindx
&! 71 g! g!

uﬁé—!—%%—ézg,aﬁx AT Fal
(A) O 400
400

(B) @ 585 (Correct Answer) (Chosen option)
585

(C) O 505
505

(D) O 480
480

Question No.14 Marks: 1.00
Bookmark

The areas of two similar triangles are 144cm? and 196cm? respectively. If the longest
side of the smaller triangle is 24cm, then find the longest side of the larger triangle.

el THEY [A37S1 o & Aol shaaer: 144 12 3iR 196 A2 | Ffe; B Faget T gy iy
I 24 YA B, oY 93 THegaT 1 Far@ et 87T 71t IS |
(A) O 22cm
22 |
(B) O 24cm
24 QA
(C) @ 28cm (Correct Answer) (Chosen option)
28 ¥+
(D) O 26cm
26 THY

Question No.15 Marks: 1.00

Bookmark
Rs.5390 is divided into three parts such that half of the first part, one- third part and one-
sixth of the third part are in the ratio 2:3:6. Find the third part.

5390 TYT &I ciled HTAN H 3T ThR TSI THT 31T & S Tk Igel HIIT ST 3TTT 19T, Teh-
TOIETS #1797 3R X 19T 6T T 79T 2:3:6 o IHeToTeT H | AT $17eT ATl HIfoIT |
(A) O Rs.990
990 ¥qU
(B) O Rs.1430
1430 ¥9T
(C) O Rs.440
440 39T
(D) @ Rs.3960 (Correct Answer) (Chosen option)
3960 TUT

Question No.16 Marks: 1.00
Bookmark
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H+a H+ b

IfH is the Harmonic Mean between a and b, evaluate 7
H—a H-b

gz H, a3y bé:@fﬁsmmwﬁ,a’rﬂ+a+ﬂ+b T Heddhe H |

H-a H-b
(A) ® 2 (Correct Answer) (Chosen option)
2

B) O 1
1

(C)O -2
-2

DO 0o
0

Question No.1 Marks: 1.00
Bookmark

How many turns of Calvin cycle is required to produce 6 glucose molecules?

6 To[ehlST 3TUT31T & ScuTest o foTT hicdsT wsh & fehcel HIS (ToT) T ITaRTehall BIcll 672
(A) O 42cycle
42 Iash
(B) O 6 cycle
6 dsh
(C) O 30cycle
30 Ish
(D) @ 36 cycle (Correct Answer) (Chosen option)
36 I

Question No.2 Marks: 1.00

Bookmark
Ampere's circuital law can be derived from:

TFIRR & TReRHT () s @ Y SgcTeT 3R S §hell &
(A) O Gauss's law
I3 F fAIH
(B) © Ohm's law
3ieA 1 o
(C) ® Biot -Savart law (Correct Answer) (Chosen option)
IA-AT¢ fH
(D) O Coulomb's law
HeATH & s

Question No.3 Marks: 1.00

Bookmark
A particle is performing a uniform circular motion. Which is the WRONG statement
regarding its motion?
Teh 0T ThHHT ool it T TGT & | SHHT 1Tl o Heer 3 ITele heT hiel-AT 572

(A) O The acceleration vector is directed towards the center of the circle
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CaROT TR, et 3 e 1 3T PER 1

(B) O The velocity and acceleration vectors are perpendicular to each other
9T 3N 0T |G, Ueh-gaR & oiad ¢ |

(C) O The velocity vector is tangential to the circle
o7 B, gt & T TR B

(D) @ The acceleration vector is tangential to the circle (Correct Answer)
(Chosen option)

caoT Wi, ged A T W B

Question No.4 Marks: 1.00
Bookmark

Calculate the potential at a point P due to a charge of 4 x 1077 C located 9 cm away:
9 QY gT U 4 x 1077 C 1AL & FHROT fieg P o) Fye7a &y 707 a1

(A) O 4V
4V

(B) O 40V
40V

(C) @ 4 x10%V (Correct Answer) (Chosen option)
4x104V

(D) O 4x10%V
4x10°V

Question No.5 Marks: 1.00
Bookmark
Which enzyme catalyzes conversion of maltose into glucose?
HleT-HT TSATSH, ATeTTST H Te[ehloT & FITROT 1 AR HT &2
(A) O Urease
SR

(B) O Invertase
g

(C) ® Maltase (Correct Answer) (Chosen option)
AT

(D) O Diastase
SAECS

Question No.6 Marks: 1.00
Bookmark
HIV that causes AIDS, first start destroying which of the following cell?

TIINEAT ST U T HRUT TAdT §, TG Tgol [T H I e i bt A5 T
U AT 82
(A) O B-lymphocytes
r-formrasca
(B) @ Helper T-lymphocytes (Correct Answer) (Chosen option)
o A-RrwrasTr
(C) O T-cytotoxic cells
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A-grseieiiages HIfAHrT
(D) © Thrombocytes

IS I RIEI)

Question No.7 Marks: 1.00

Bookmark
Which alcohol is used as a solvent in paint industries?

YT 3T H faemae & &9 H fohd 3edhigd 1 3941 fhar Jrdar 872
(A) @ Ethyl alcohol (Correct Answer) (Chosen option)
TS edhled
(B) O n-propyl alcohol
N-AITSel 3Teehigal
(C) O iso-propyl alcohol
TSH-SIS e 3ehiger
(D) © Methyl alcohol
AT Hohlgel

Question No.8 Marks: 1.00

Bookmark
Graves disease is caused due to the hyper secretion of which of the following gland?

I8 W1 fArafaf@a # & forg 31 & 3 919 & SRUT glar 87
(A) @ Thyroid Gland (Correct Answer) (Chosen option)
IRRITS 7Y
(B) O Pancreas
IR
(C) O Adrenal Gland
fergeres ATy
(D) O Pituitary Gland
Rreged 3y

Question No.9 Marks: 1.00
Bookmark

Which ion has more conductivity as compared to the conductivity of Rb*(aq) ion in
similar conditions?

AT [EAfat 7 Rb*(aq) 3T T HTelehcll shl Jefell 7 fohd T & 3HTeeh TTeTehll glcil
g2
(A) O Na*(aq) ion

Na™(aq) 3=t

B)O L Li*(aq) ion

Li*(aq) 3masT

(C€)O Kk K*(aq) ion
K*(aq) 3=t

(D) @ H*(aq) ion (Correct Answer) (Chosen option)
H*(aq) 3T
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Question No.10 Marks: 1.00
Bookmark
Which of the following country has the highest bio-diversity?
frAfaf@d & & fFa ¢or 7 Sta-fafawrar gew 3w §2
(A) O India
sfsar
(B) O China
et
(C) @ Brazil (Correct Answer) (Chosen option)
STSiter
(D) O Russia
&g
Question No.11 Marks: 1.00
Bookmark
Which among the following is NOT applicable in reducing the systematic errors?
T # @ wieT shoAerg T Y A A H ST AGI 07
(A) O Selecting better instruments.
JEAR 3T T T
(B) O Removing personal biases.
ST T&TITC T G hlatl
(C) O Improving the experimental techniques.
TANTTH cTehatienl H JUR
(D) @ Taking large number of measurements using the same instrument.
(Correct Answer) (Chosen option)
T &1 SYHTOT T YAV Fh To1 T&IAT H AT o1
Question No.12 Marks: 1.00
Bookmark
For the chemical reaction SA(Q] o 2D(5]= which is CORRECT relation between AH and AU
at TK temperature?
3Ay = 2Dy Temafis wfefiar ¥ fg TKaga T ow AH i AU % &= adr ey
FA-AT 57
(A) O AH=AU-3RT (Correct Answer)
AH = AU - 3RT
(B) ©O AH=AU-RT
AH =AU -RT
(C) O AH=AU
AH = AU
(D) ® AH=AU+RT (Chosen option)
AH =AU + RT
Question No.13 Marks: 1.00
Bookmark
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Headquarter of Botanical Survey of India is at .
HRAT eTeqicl FATOT hT HEITeTd H a8
(A) O Pune

qoY

(B) ® Howrah (Correct Answer) (Chosen option)
grast

(C) O Bangalore
IR

(D) O New Delhi
S feeen

Question No.14 Marks: 1.00
Bookmark

Three resistors of equal resistance ‘R’ is connected in parallel combination, if each
resistor of this combination dissipates 9R watt power from a DC supply. Find the total
current drawn from the supply?

AT FfaRIE ‘R’ & el R TAATR It 7 FATSId &, TG 59 GAToTel Hl I
wfeRTers: Teh ST 3mqfel & 9R are erferd @1 aftor &t e 81, 3mqfel & 3meRa et fega
YR AT HrioTe?
(A) O 12A
12 TR
(B)O 3A
3 TFEIRRY
(C) ® 9 A (Correct Answer) (Chosen option)
9 TFIRIT
D)O 6A
6 TFIRT

Question No.15 Marks: 1.00
Bookmark

In five kingdom classification, Monera is sub divided into which of the following?
9 ST FIfTeRI0T H, AT I fAr=ifafla & & foras gfdsnfaa frar arar g2
(A) O Mycoplasma and Archaebacteria
HISHITATTHT 3R Mehaare AT
(B) O Blue Green Algae and Archeabacteria
ol #eT QaTer 3R 3mehdere T
(C) O Cynobacteria and Eubacteria
ARARFART 3t TR
(D) @ Eubacteria and Archaebacteria (Correct Answer) (Chosen option)

TR 3T smHdTdfRaT

Question No.16 Marks: 1.00
Bookmark

How many carbon atoms are present in a molecule of sodium stearate?

TIfSTH TEIE o Teh 3707 H Fohclel HreleT TATI HISE Blcl 67
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(A) @ 18 (Correct Answer) (Chosen option)
18

(B)O 16
16

(C)O 17
17

(D)O 19
19

Question No.17 Marks: 1.00

Bookmark
Benzaldehyde is produced from benzoyl chloride by hydrogenation in presence of Pd-
BaSQy , this reaction is known as:

dolTeSEISS I 3cUIGH doolldol FARISS H gISSISTaAeUT GaRT Pd-BaS0, &1 3uledfa #
foRaT SITaT &, 39 TRTHAT 1 fAe=T YhR & ST ST &
(A) O Gattermann—Koch reaction
IMEIHA-IT ITATHAT
(B) O Stephen reaction
et ifRfsRar
(C) O Etard reaction
HAGIEIE
(D) ® Rosenmund reduction (Correct Answer) (Chosen option)

VSIS TTIA
GENERAL APTITUDE - GENERAL APTITUDE

Question No.1 Marks: 1.00
Bookmark

A man purchased a scooter for Rs.30000, spent x % of the cost price on repairs and
sold the scooter for Rs.40000 there by getting a profit of 25%. Find the value of x.

Teh JTEHT & 30000 9T H Fhe TGN, HWFHT T 5T Hed AT x% G T 3R 25% T

SIT3T GTec Rl §U FhHex T 40000 TIV H o feAT| x T HIeT AT |
(A) O 20%
20%
B) O 5.5%
5.5%
(C)O 10%
10%
(D) ® 6.66% (Correct Answer) (Chosen option)
6.66%

Question No.2 Marks: 1.00

Bookmark
The respective ratio of Ram’s age and his son’s age is 5:4 and the product of their ages
is 320. The ratio of their ages after 6 years will be:

A Y 3T T 3eTeh I T 3G & H AT ITITT 5:4 & 3R 3eThT 3 T JUTAh 320 1 6
aY & 91E 3T AR T AT g1

(A)O 11:13
11:13

O
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(B) 10:13
10:13
(C©)O 13:10
13:10
(D) ® 13 : 11 (Correct Answer) (Chosen option)
13: 11
Question No.3 Marks: 1.00
Bookmark
Ifa: b=c:d=2.5:1.5, then what is the value of (a + c) : (b + d)?
gfida:b=c:d=25:1.5dl(a+c): (b+d) 3 AT FIT g2
A)O 3
5
3
5
B
®© (Correct Answer) (Chosen option)
5
3
©O 3
4
3
4
D)O 4
5
4
5
Question No.4 Marks: 1.00
Bookmark
N 2 AN
Simplify 2x-3x7,ifx =4.
1 1 )
2x73x 7 Y W Y, AR x=4 B
(A)O 4
4
(B) ® 3 (Correct Answer) (Chosen option)
3
(C)O 5
5
(D)O 2
2
Question No.5 Marks: 1.00
Bookmark
A basket contains 9 red, 2 black, and 3 white balls. If 2 balls are drawn at random from
the basket, what is the probability that both are red?
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Teh Tl # 9 oTel, 2 el 31 3 Athg 19T FI 37¢ gict & | IfE 2 31 Ipdl & arefeos T @
fASRTeN ST &1 FFar T1fRehdr § o6 gt e ofrer §72
(A) O 13
36
13
36
B)O a1

36
91

36
C)® |36

a7 (Correct Answer) (Chosen option)

36

91
(D)O 36

13

36

13

Question No.6 Marks: 1.00

Bookmark
The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT combination.

2,3,8, 26, 112.

ATy &Y 975 AW H HEAT3T T Teh IHoJohH & | AGTHR el HATSTeT bl TgTe] ohi |
2,3,8, 26, 112.
(A) @ 26 (Correct Answer) (Chosen option)

26

B)O 3
3

€O 8
8

D) O 112
112

Question No.7 Marks: 1.00

Bookmark
Find the average of the following set of numbers:

123, 42, 154, 362, 134

i@ IEamt & de & 3iga # A d F3
123, 42, 154, 362, 134

(A) @ 163 (Correct Answer) (Chosen option)
163

(B) O 162
162
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(C) O 160
160

(D) O 166
166

Question No.8 Marks: 1.00

Bookmark
If in a certain code PERFECT is written as NCPDCAR, then how will MISHRA be written
in the same code?

g e ATRTT g H, PERFECT &I NCPDCAR & &9 & for@r Sirar &, af AT g &

MISHRA &I & for@r Siream?

(A) O PYGQFK
PYGQFK

(B) O KFQGPY
KFQGPY

(C) O KQGFPY
KQGFPY

(D) ® KGQFPY (Correct Answer) (Chosen option)
KGQFPY

Question No.9 Marks: 1.00

Bookmark
Two numbers are in the ratio 1:2. If 7 is added to both the numbers then the ratio
changes to 3:5. Which is the greater number?

al HEATV 1:2 o 37qarel A §1 I 7 1 SNt HEa13it & st Sirelm § A 31e]dre 3:5 & deel
ST 8| T8 957 HEAT Rl 57

(A) @ 28 (Correct Answer) (Chosen option)
28

B) O 42
42

(C)O 36
36

(D) O 24
24

Question No.10 Marks: 1.00

Bookmark
If C.P is Rs. 10,000 and S.P is Rs. 15,000. Find the profit percent?

ITe T Hed 10,000 TV 3N fasha Hed 15,000 FUT &1 TF SoTehl oTsT TTAAT AT 2
(A) O 40%
40%
(B) O 30%
30%
(C) O 60%
60%
(D) @ 50% (Correct Answer) (Chosen option)
50%

Question No.11 Marks: 1.00
Bookmark

Complete the series choosing the missing letter/s:
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AZ, GlI, ,SH, YB.

SCCT 37ET/37ET T T Il §U HTell BT I A
AZ,Gl,___ ,SH,YB.
(A) @ MN (Correct Answer) (Chosen option)
MN
(B) O BA
BA
(C)O AB
AB
(D) O NM
NM

GET IT ON
Google Play

Question No.12

Rajeev riding his bicycle covers 750 meters in 1 minute and 15 seconds (75 seconds).
What is his speed in km/ hour?

TS 379eA ATSfehel Sl HART ¥eh 1 TAeTe 3R 15 Aehs (75 Aehs) H 750 HIe 1 gl dF
AT &1 3T TTe Fhell/ae & a7 82
(A) O 32 km/hr
32 farat/Ee
(B) O 40 km/hr
40 fersrae
(C) O 30 km/hr
30 fers/ae
(D) @ 36 km/hr (Correct Answer) (Chosen option)
36 fFafi/ae

Bookmark

Marks: 1.00

Question No.13

‘X’ and Y’ together can complete a piece of work in 15 days and ‘Y’ alone in 20 days. In
how many days can ‘X’ alone complete the work?

X' 3R Y’ Teh R @l U A 15 A 7 3R Y 20 & 7 3rehel 36 1 T G AT Fehll
g1 ar X 3rhel fohctet et #F a1 &t o1 oY TehelT 872

WO
- days
1
= e
(B) ® % days| (Correct Answer) (Chosen option)
2.
60
©)O |
= davs
=
65
(D) O
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1
Eda}rs
1
s &=

Question No.14 Marks: 1.00
Bookmark

Complete the series choosing the missing number:
20, 25, 35,50,70, __,

o[Ccl TEAT T TGl el gﬂﬁwﬁ@ﬁ:
20, 25, 35,50,70,
(A) O 90

90

(B) O 92
92

(€©)O 93
93

(D) @ 95 (Correct Answer) (Chosen option)
95

Question No.15 Marks: 1.00

Bookmark
If the code of 64958 is 53847, then what will be the code of 626547

Ife 64958 T 15 53847 &, Al 62654 T IS FAT BIAM?

(A) @ 51543 (Correct Answer) (Chosen option)
51543

(B) O 54513
54513

(C) O 31545
31545

(D) O 54315
54315

Question No.16 Marks: 1.00

Bookmark
The sum of 5 numbers is 555. The average of the first two is 25 and third number is 115,
then the average of last two numbers is:

5 TEIT3AT T AN9T 555 § | Igor & o 3 25 § 3R Jrady Tear 115 §, ar 3ifas e aeansi
hl 3-T\'HFT%’:
(A) O 145
145
B) O 290
290
(C) @ 195 (Correct Answer) (Chosen option)
195
(D) O 265
265

Question No.17 Marks: 1.00
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Bookmark
81 % of the students in a school are boys. If the number of girls is 228, then the total
number of studentsis .

T Tl 7 81% BT 5% ¢ | A& Fsforall & wwar 228 §, ot omt & Fo dear __§l

(A) O 1000
1000

(B) O 1300
1300

(C) O 1400
1400

(D) ® 1200 (Correct Answer) (Chosen option)
1200

Question No.1 Marks: 1.00
Bookmark

variety of mango is suitable for high density planting.
foreat T 31T, 3= T arel U907 & oIT 39 giar &1
(A) O Dasheri
IS
(B) ® Amrapali (Correct Answer) (Chosen option)
AT
(C) O Himsagar
fRAERR
(D) O Chausa
aiar

Question No.2 Marks: 1.00

Bookmark
JS 335 and JS 93-05 are high yielding popular varieties of:

JS 335 3R JS 93-05 &I 327 YgIaR dle T fhed &1
(A) O Sorghum

IRT IT ARGH
(B) O Sugarcane

ool

(C) O Wheat

g

(D) ® Soybean (Correct Answer) (Chosen option)
ieicic)

Question No.3 Marks: 1.00

Bookmark
The seed rate of irrigated coriander crop is kg/ha.

AT afar wae & dier & fRa/gereaR I 8

(A) O 20-22
20-22

(B) ® 10-12 (Correct Answer) (Chosen option)

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e1EASDiSSpS+rQ9nhTxRC 1w==.html 33/62


https://applink.adda247.com/d/XhqWf9lSap

Adda247

2/18/2021 View Question Paper
10-12

(C)O 35
3-5
(D) O 6-8
6-8

Question No.4 Marks: 1.00

Bookmark
Price theory is a branch of

Ao eia Y Ueh AT B

(A) O public finance
olreh faed

(B) ® micro-economics (Correct Answer) (Chosen option)
AfSe (ATg) rdeme

(C) O Marketing
faqurer

(D) O macro-economics

HATSE (Hshr) 3remeT

Question No.5 Marks: 1.00
Bookmark
Plant loses water in transpiration up to the extent of

giey T HAT doh arsdicHolel H ITail @l &l gl
(A) O 70%
70%
(B) O 80%
80%
(C) O 85%
85%
(D) @ 99% (Correct Answer) (Chosen option)
99%

Question No.6 Marks: 1.00

Bookmark
Which of the following element is required by plants for uptake and utilization of calcium
and carbohydrate translocation?

frafaf@d # & Hla-83 dea $r 3maegerdr, diul garT Sfeera# 3R FEfesge &
SHENheIT & 3EgUT A 3TN & gleh 87
(A) O Selenium

Teifaga

(B) O Manganese
Harelrar

(C) ® Boron (Correct Answer) (Chosen option)
IR

(D) O Chilorine
FelIeT
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Question No.7 Marks: 1.00
Bookmark

Which of the following is the Primary demerit of Shifting cultivation?
AT 7 & leT-AT 57 HiY T JrAfAH 379707 872
(A) @ Soil erosion (Correct Answer) (Chosen option)
T IR
(B) O Climate change
STerary ARl
(C) O Soil nutrients loss
#eT & I deat 1 giter
(D) O Soil structure loss
HET T T H FThHTe

Question No.8 Marks: 1.00
Bookmark
is the Primary Institution of Society.

THTST T TR TEATT glarg |
(A) O Block

s
(B) O District

e

(C) @ Family (Correct Answer) (Chosen option)
TRERr

(D) O Village
aa

Question No.9 Marks: 1.00
Bookmark
Soil mulching is done to:

TAEY &1 Afeger gd folw T STl &
(A) O Encourage evaporation
TAHIOT Y eI FIAT
(B) O Encourage weed growth
TIYAIR g &l FIcaTigd el
(C) O Reduce saoil fertility
ALY &Y 3T HH HEAT
(D) @ Conserve soil moisture (Correct Answer) (Chosen option)

Y iy 7 Fr AT F

Question No.10 Marks: 1.00
Bookmark
Pheromone trap is used to control .

URIANT ¢ T 39T I AT el & forw fFar srar g
(A) O caterpillar
FHe et
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(B) O female bugs
AT I
(C) O female moths
HIET I
(D) ® male moths (Correct Answer) (Chosen option)

AT g9t

Question No.11 Marks: 1.00

Bookmark
The programme related with training of rural youths is:

ITEAOT JAT3HT o TRIETOT & Heiferel shrisha 4o &

(A) @ TRYSEM (Correct Answer) (Chosen option)
ANRASTHSTH

(B) ©O DAY-NRLM
S-UAHRUATH

(C) O DPAP
Srdredy

(D) O PMAY-G

qeATaTS-Si

Question No.12 Marks: 1.00

Bookmark
Which of the following is the important staple food crop of India?

AR I AT & & hler-afy FgcaquT FeTeT Wied Bael &2
(A) @ Rice (Correct Answer) (Chosen option)
didel
(B) O Maize
Hefhl
(C) O Sorghum
IRT IT ARGH
(D) O Wheat

Question No.13 Marks: 1.00
Bookmark

Which state has the highest percentage of irrigated area in India?
IR # BRI 817 1 aaras gfaerd fha Tsg 7§72
(A) O Madhya Pradesh
HET geer
(B) @ Punjab (Correct Answer) (Chosen option)
LEIC]
(C) O Gujarat
I

9
(D) O Maharashtra
HeNISC
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Question No.14 Marks: 1.00
Bookmark
Which one of the following is the Principle of Extension Education?

Arfaf@a & & la-ar farany (TeradersT) frer &1 &gia g2
(A) ®@ Learning by doing (Correct Answer) (Chosen option)
e arferarer (arfeter ame 531
(B) O Learning by hearing
AT 37T (et arw gr31Rar)
(C) O Learning by seeing
T AT (arfeier STU Higam)
(D) O Learning by reading
&t 31ferere (arfser arw {ifga)

Question No.15 Marks: 1.00
Bookmark
What is the seed rate of Tomato during transplanting?

UTS (STETATTEIT) o GRTA THTEX T aitoT &3 FAT &l 872
(A) O 100 to 200 g per hac
100 & 200 ITH 9id geFea
(B) @ 400 to 500 g per hac (Correct Answer) (Chosen option)
400 ¥ 500 ITAH gfar gAY
(C) O 200 to 300 g per hac
200 & 300 1A gfd geFeax
(D) O 600 to 1000 g per hac
600 & 1000 ITH Ifd geFe IR

Question No.16 Marks: 1.00
Bookmark
Which one of the following states of India has the most suitable climatic conditions for
the cultivation of a large variety and different types of orchids?

HRA & eafafad # & forg o 7 ue faemer fafaerar 3k fafdes gar & 3iifdhs $r
el & T Few 3ugerd Steary TR feufaar §2
(A) O Madhya Pradesh
HET US2r
(B) O Uttar Pradesh
3l geer
(C) © West Bengal
qfegH FaTel
(D) @ Arunachal Pradesh (Correct Answer) (Chosen option)
BT I

Question No.17 Marks: 1.00
Bookmark
Agricultural Price Support Policy of the Government mainly aims to benefit:
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TR HT F A TAYT N 7 7&T T F 3227 w8 ofrer & &
(A) O Government
RSeCary
(B) O Middleman
fegifae
(C) @ Farmers and consumers (Correct Answer) (Chosen option)
frarer 3R sweear
(D) O Industrialist
ELRIEIEIG

~

Question No.18 Marks: 1.00
Bookmark
Optimizing the use of farm resources on an individual farm level is referred as:

T HiY FAX TR Y FHIEAT o ST &l IeTehelcdd Tl fohdl & H Fefetel fehar
ST &
(A) ®@ Macroeconomics (Chosen option)
FAE 3T (Hhl SHIATHF)
(B) O Agricultural marketing
Y fagore
(C) O Farm management (Correct Answer)
qd yau=
(D) O Production economics
3cqTee 3T

Question No.19 Marks: 1.00
Bookmark
Germplasm theory was proposed by .

SeAeiged (STHveeH) fRgia CART JEATIA ThdT 72T ATl
(A) O Pnillips
fOhferca
(B) ® Weismann (Correct Answer) (Chosen option)
qrEeTAT
(C) O Mendel
Haol
(D) O Darwin
GICCH

Question No.20 Marks: 1.00
Bookmark
When a plant part undergoes senescence, the nutrients may be:

SIS Teh Uiy o1 fEa Shofar & g1en el 8, af 9iveh dea g ghd 2
(A) O Oozed out from the senescent part

Sfrof feed & S AT AT et 7 Ffad

(B) O Leached out from the senescent part
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Shof feed & faex

(C) O Accumulated in senescent part
Shof fged 7 wfa

(D) @ Translocated from the senescent part to other parts (Correct Answer)
(Chosen option)

Shtof Rt @ gt ey of e

Question No.21 Marks: 1.00

Bookmark
India is the largest producer as well as consumer of in world.

HRA gl & T HY 3T 3cUTGeh 3R IUAFAT 8|
(A) @ pulses (Correct Answer) (Chosen option)
g
(B) O wheat
g
(C) O rice
UTdel
(D) O sugarcane
ool

Question No.22 Marks: 1.00

Bookmark
Which one of the following fertilizers does NOT contain nitrogen?

afaf@a & 9 fFg 38 & Arsciste A8 8idr 87
(A) @ MOP (Correct Answer) (Chosen option)
THINY
(B) O Urea
IRar

o

(C) ©O Ammonium sulphate
IAATH Fethe
(D) O DAP
gudr

Question No.23 Marks: 1.00

Bookmark
In India, Organic cultivation of vegetables will get amount of loan.

R 7, afesrat fr g W 1 Hor TR 9ree e |
(A) O 20000 per hac
20000 9fd g
(B) @ 10000 per hac (Correct Answer) (Chosen option)
10000 wfay g}
(C) O 5000 per hac
5000 9fd geFeax
(D) O 50000 per hac
50000 9fd gareaX
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Question No.24 Marks: 1.00

Bookmark
Which of the following is the largest fruit producing state in India, in 20207?

fAFAfaf@d # @ &l 2020 H HRT # GIE 37 el 3cUGH TS 872
(A) ® Andhra Pradesh (Correct Answer) (Chosen option)
3TET 2w
(B) O Punjab
golTe
(C) O Madhya Pradesh
HqET U 2r
(D) O Guijarat
IS

)

Question No.25 Marks: 1.00

Bookmark
pF value is a measure of

U AT T T AT g
(A) O soil temperature
Y &1 QAT
(B) O soil aeration
IGEEICIRE]
(C) ® soil moisture (Correct Answer) (Chosen option)
ICHE
(D) O soil alkalinity
Y fr emirrar

Question No.26 Marks: 1.00

Bookmark
can sustainably enhance the nutrient content of the soil.

TEY i aweh AT A MR T ThaT B

(A) ® Compost (Correct Answer) (Chosen option)

EC I}
(B) O Sand

d
(C) O Commercial fertilizer

ST 3aH
(D) O Fresh animal dung

GIEIEKICH

Question No.27 Marks: 1.00

Bookmark
IPS-147-1 grown in Madhya Pradesh is a variety of

HET G&2T 7 39T ST aTel IPS-147-1, T e [HEA B
(A) ® kodo (Correct Answer) (Chosen option)
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Far
(B) O bajra
CIE
(C) O ragi
efY
(D) O sanwa
GleTdl

Question No.28 Marks: 1.00

Bookmark
Which of the following day is celebrated as National Farmers’ Day?

AFff@a 7 O g BT 3 TS fharsT o & &9 & FH1T SIrar &7
(A) O 16t October
16 3EER
(B) O 5t June
5 S
(C) @ 23" pecember (Correct Answer) (Chosen option)
23 feEaT

(D) O 23 March
23 AT

Question No.29 Marks: 1.00

Bookmark
is the most commonly used propagation method in case of rose.

T[S o HATHA F FaH 3T SEAATS T ST ATell TEN (SuarereT) fafer &

(A) O Airlayering

W T
(B) ® Budding (Correct Answer) (Chosen option)

afsar
(C) O Seeding

IECH
(D) O Tissue culture

fey FemR

Question No.30 Marks: 1.00

Bookmark
is a widely used mitotic inhibitor for the induction of polyploidy in plants.

Wﬁayﬁa%ﬁw%ﬁammﬁgﬁmmaﬁw
AEclfes AU gl

(A) @ Colchicine (Correct Answer) (Chosen option)
CaCIGICT)

(B) O 1AA
3SUT
(C) O Ethylene
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TielleT

(D) O Ozone
3l

Question No.31 Marks: 1.00

Bookmark
In which year “Grow more food campaign” was launched?

et o #F “31T0eh 3ot 3USTT3N AT Y& foham I T2

(A) O 1956
1956

(B) O 1963
1963

(C)O 1972
1972

(D) @ 1948 (Correct Answer) (Chosen option)
1948

Question No.32 Marks: 1.00
Bookmark
SGSY is a program for the promotion of:

THSAIUHAS F TR & o0 U FRIFH B

(A) @ Self-employment (Correct Answer) (Chosen option)
FIUSTIR

(B) O Infrastructure development
NG [

(C) O Community development
AHCTR [

(D) O Wage employment

Folgll SR

Question No.33 Marks: 1.00
Bookmark

The M.P. State Agricultural Marketing Board (Mandi Board) has come into existence in
the year .

ALY 922l T HiY faqoret a1 (F73r aS) a H 31fedca 7 AT E|
(A) O 1980
1980
(B) O 1970
1970
(C) ®@ 1973 (Correct Answer) (Chosen option)
1973
(D) O 1983
1983

Question No.34 Marks: 1.00

Bookmark
The nutrients without which the plant is unable to complete its life cycle are called
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TSIt dYeh cedl & forr ot 39er Sitaet =k QU it 7 3 Y gl 8, 376
&gl STl &1
(A) O Micro-nutrients
HE&H ek ded
(B) O Macro-nutrients
AHI-9IvE ded
(C) @ Essential nutrients (Correct Answer) (Chosen option)
TS 9NSF ded

(D) O Benéeficial nutrients

TTHSRY 91 ded

Question No.35 Marks: 1.00

Bookmark
Study of agronomy dealing with the relationship of yield to the quantity of an added or
available fertilizer element is called

A IT 3YTSY 39Tk dcd T ATIT H 3T & ¢ Tigd 3T el arel TIATHT T 37ETTT

ETC IS
(A) @ Agrobiology (Correct Answer) (Chosen option)
LOICIBICIE ]
(B) O Agrology
EIRRCEIC
(C) O Soil fertility
gy & 3
(D) O Soil productivity
fAET 1 ScureeRar

Question No.36 Marks: 1.00

Bookmark
For better crop production are important steps of proper land
preparation.

g B 39T & o, A 1 3T R F AgcaquT TROT § |
(A) O loosening and scraping of soil
TAET o1 EremaeT (effSiaT) 3R =T (Ehidar)
(B) ®@ turning and loosening of soil (Correct Answer) (Chosen option)
gt &t #Argan (efefan) 3tk dram Fa (sqfoia)
(C) O deep ploughing of soll
GHEE TS
(D) O weeding and sowing

oS AR garg

Question No.37 Marks: 1.00

Bookmark
nutrient deficiency causes chlorosis in older leaves of plants.

qINeh cedl & ot I dieit il gl gical & FRITaw g1 ST & |
(A) O Calcium
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Fioerase

(B) ® Magnesium (Correct Answer) (Chosen option)
Heehifdrra

(C) O Sodium
IR

(D) O Nitrogen

GIEMCE]

Question No.38 Marks: 1.00

Bookmark
The increased performance of F4 hybrid over its parents is called

3Tet Feleh (WTH) T T Fq T FT aftid v elet FHEATT g
(A) O dominance
YA (SITH)
(B) @ heterosis (Correct Answer) (Chosen option)
T A (Fe0faw)
(C) O crossing over
St fafera (pifder 3aR)
(D) O inbreeding
3 TSI (SeTsIf3aT)

Question No.39 Marks: 1.00

Bookmark
Soil erosion can be checked/controlled by .

T 39Ree I St/ =0T AT fohaT ST HeheTT B
(A) O deforestation
gl I heTs
(B) O overgrazing
WIS (3NaTAfSiaT)
(C) ® vegetative cover (Correct Answer) (Chosen option)
areTEqfae 3Tavor
(D) O over-irrigation

e =S

Question No.40 Marks: 1.00

Bookmark
The new Agricultural Policy was established in

7§ I Ay 3% e B a7 o)

(A) O 2005
2005

(B) O 2010
2010

(C) O 2008
2008

(D) ® 2000 (Correct Answer) (Chosen option)
2000
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Question No.41 Marks: 1.00

Bookmark
Which of the following is the Fruit Ripening hormone?

farafaf@a # & Sia-a1 Bef gehret arel grAfd §2
(A) O Gibberellins
SENEC]
(B) @ Ethylene (Correct Answer) (Chosen option)
e
(C) O Cytokinin
GIECICAEE]
(D) O Abscisic acid
UfeHTae 31Fe

Question No.42 Marks: 1.00

Bookmark
When | develop feeling that "The culture | accept and follow is superior to others", | am:

ST # 39 $7TaT Y [IR AT AT § b “H T TEpfal sl Tl il § 3R 38
ST T § 7 R 4 I A
(A) @ Culture centric (Chosen option)
HEHT Fioe
(B) O Ethnocentric (Correct Answer)
Horfasfad (Taaifes)
(C) O Sociocentric
HATS higd
(D) O Geocentric

ahiad (ramdfe)

Question No.43 Marks: 1.00

Bookmark
The branch of agriculture which deals with garden crop is referred as:

S &1 g5 AT SN 3T FET § FRAA &, 38 gl ST & |
(A) O Agronomy
TIATHT
(B) @ Horticulture (Correct Answer) (Chosen option)
gifeaeax
(C) O Entomology
GIATATSAT
(D) O Pathology
CRICIE

Question No.44 Marks: 1.00

Bookmark
NARS stands for:
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TAUHRTH & AT &
(A) O National Agricultural Research Stream
AT TlhedR Rad TEH
(B) O National Agricultural Review System
AeeTe TishewR Reg e
(C) O National Ayurvedic Research System
AereTer 3Mgdies Rae s
(D) @ National Agricultural Research System (Correct Answer) (Chosen option)

AAAd Tfimeay RET R{eed

Question No.45 Marks: 1.00
Bookmark
People’s participation in an extension program is significant when:

TIEAR HRIsha A it T HENeRY AgcaquT gl & ST

(A) O Local leaders participate
TG AT ART A B |

(B) @ Majority of villagers participate (Correct Answer) (Chosen option)
rfererier oo omeT A €

(C) O Gram panchayat members participate
ITH T HEET AT ol & |

(D) O Literate section of villagers’ participates

IO o FreR TS HAPT o & |

Question No.46 Marks: 1.00
Bookmark
The Kisan Credit Card (KCC) Scheme was launched in the year

T Shisc FIs (FAHY) AT T Iy # & e ara |
(A) @ 1998 (Correct Answer) (Chosen option)
1998
(B) O 1988
1988
(C) O 1971
1971

(D) O 1956
1956

Question No.47 Marks: 1.00
Bookmark
There are Agro-climatic zones in Madhya Pradesh.

HqET geer A P-STerary &7 8
(A)O 18
18

(B) O 15
15

€O 8
8

(D) ® 11 (Correct Answer) (Chosen option)
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Question No.48 Marks: 1.00

Bookmark
Which of the following is the CORRECT sequence of soil-water erosion?

fAFfafad & @ la-ar fAE-arel 3rRe T T8 3Tsha &7

(A) O Deposition-Detachment-Absorption
f&TauT-faeraret-3raeieor

(B) @ Transportation-Detachment- Deposition (Chosen option)
IRAg-faelaTA-feTgTqor

(C) O Detachment-Transportation- Deposition (Correct Answer)
farererer-aRager-favaaor

(D) O Deposition-Detachment-Transportation
fggor-IAeee-aRaga

Question No.49 Marks: 1.00

Bookmark
Which of the following amino acid is the precursor for auxin biosynthesis?

fFAfa@d & @ Sia-a1 AT 33l , HiTraet STATHATEH 1 I 872
(A) @ Tryptophan (Correct Answer) (Chosen option)
grATegeT
(B) O Histidine
g
(C) O Arginine
3nfoteiter
(D) O Glutamine
TICTAS

Question No.50 Marks: 1.00

Bookmark
The process of entry of water into soil from earth surface is referred as:

gt 1 T U ALY 7 drelt & sarer it ufohar et & w0 7 @it &
(A) O Leaching
CIE
(B) @ Infiltration (Correct Answer) (Chosen option)
HA:TIEA
(C) O Percolation
37T TIGUT (TPTeI2TA)
(D) O Seepage
st

Question No.51 Marks: 1.00

Bookmark
The field capacity of soil is usually considered to be at pF=

fAEY &Y &1 &THAT Y 3MTHAR W pF = HTAT ST &1
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(A) O 35

(B) O 2.0
(C)O 4.5

(D) @ 2.5 (Correct Answer) (Chosen option)
25

Question No.52 Marks: 1.00
Bookmark
Which part of root absorbs water and minerals?

TS T hiod-aT fgEar urelt 3 @iAat 1 g Hidar g2
(A) O Root cap
T HY
(B) @ Root hairs (Correct Answer) (Chosen option)
T g ad
(C) O Epidermis
UEEER]
(D) O Endodermis
wEEtEd

Question No.53 Marks: 1.00
Bookmark
Which of the following is NOT matched correctly?

fFATA T 7 & SleT TET &I A Tl AGT WIaT 872
(A) O Zaid crop - Green gram
SAIE T BT - g el
(B) O Rabi crop — Wheat
Y&l 1 HEe — g
(C) O Kharif crop — Rice
T HT HHT — Aol
(D) ® Summer crop — Potato (Correct Answer) (Chosen option)

MsAFTelleT HHeT — 3MTe]

Question No.54 Marks: 1.00
Bookmark
Microorganisms having highest biomass in normal soil is

A FAEY 7 qad 31U SAA aTel gaHohd gl gl
(A) O algae

arer
(B) O bacteria

Straror

S

(C) ® fungi (Correct Answer) (Chosen option)
Sdeh

(D) O actinomycetes
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UiFcAtASdCH

Question No.55 Marks: 1.00
Bookmark

Why bagging is done?

Sf3ter &7t foram ST 872

(A) O To avoid self-pollination
EI-TRIET0T § g9 & folw

(B) @ To prevent contamination from foreign pollens (Correct Answer) (Chosen
option)

qMET TGUOT § HGHUT Y Nt & farw
(C) O To avoid cross-pollination

IR-TRMET0T & §91 & ToIT

(D) O To get desired pollination
qIfd IRIETOT ITe et o folT

Question No.56 Marks: 1.00
Bookmark
Which of the following instrument is used for measuring soil strength?

ST & ALY F A9 F forw Feafaf@a & & g 3uaor 1 3uter fhar Sirar g2
(A) O Hydrometer

grsgiAteY

(B) O Thermometer
qATHIET

(C) ®@ Penetrometer (Correct Answer) (Chosen option)

O rarsire

(D) © Dynamometer
SIATHIHTCY

Question No.57 Marks: 1.00
Bookmark
Rajmata Vijayaraje Scindia Krishi Vishwa Vidyalaya (RVSKVV) is situated at
in M.P.

AT faerare fifear # favafaearer, (mdvaddid) T
el & R ¥
(A) O Bhopal

I

(B) @ Gwalior (Correct Answer) (Chosen option)
Tarfa}

(C) O Tikamgarh
SRHIG

(D) O Jabalpur
[ECISISEY

S

Question No.58 Marks: 1.00
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Bookmark
Yellow Revolution is related to

Aol shifar SR EIBE R
(A) O egg production
3187 3cUTGsT
(B) @ oil seed production (Correct Answer) (Chosen option)
der i 3cuTeeT
(C) O potato production
31Te] T 3cdTest
(D) O jute production
SIC T 3cdTee

Question No.59 Marks: 1.00
Bookmark
Which of the following is the cause of Grassy shoot disease of Sugarcane?

AFATATET 7 & SIT-HT 7T & T SRg (I ) V3T T HROT 52
(A) @ Bacteria (Correct Answer) (Chosen option)
Sfraror

(B) O Fungus
hdeh

(C) O Virus
ICRIE

S

(D) O Mycoplasma

HISICATSHT

Question No.60 Marks: 1.00
Bookmark
Crop Ecology means:

wae qIRTEATAT 1 37 glar &:

(A) O Relationship of crop plants to their cropping system
Il QT T 3eTch! Hdel JUTTell & &Y

(B) @ Relationship of crop plants to economic factors (Chosen option)
w it T 36 HRT T T

(C) O Relationship of crop plants to their distribution
wae 9 &1 3eToh faaRor & Fay

(D) O Relationship of crop plants to their environment (Correct Answer)

Hel Gt T 3% TITEI0T F HEr

Question No.61 Marks: 1.00
Bookmark
Identify the odd one.

farwar ¥ gforw)

(A) @ Inbreeding Depression (Correct Answer) (Chosen option)
SeTslifSer fRvere

(B) O Heterosis

mppeb_kkkv.onlineregistrationform.org:8660/QP 1/e1EASDiSSpS+rQ9nhTxRC 1w==.html 50/62


https://applink.adda247.com/d/XhqWf9lSap

Addal247

2/18/2021 View Question Paper

favaar (geuta)
(C) O Hybrid Vigour
grsfos oo
(D) O Outbreeding Enhancement
S

Question No.62 Marks: 1.00
Bookmark
The causal organism of powdery mildew is:

TET HHET (3 FAesy) T HRT oA &
(A) O Nematode
AHACIS

(B) O Virus
CIR2RL: ]

(C) O Bacterium
Straror

S

(D) @ Fungus (Correct Answer) (Chosen option)
Shdsh

Question No.63 Marks: 1.00
Bookmark
Use of crop rotation for the reduction of pest population/pest attack is a
method.

FIe HTEIET / HIET & §Hel Pl HH el & [T B ThUT T YA Teh
afer g

(A) @ cultural (Correct Answer) (Chosen option)

grehfasw

[

(B) O chemical
R IRIEED

(C) O physical
ifaehr

(D) O mechanical

RIECY

Question No.64 Marks: 1.00
Bookmark
Which one of the following minerals are required for the synthesis of chlorophyll?

FARITheT & H2AYT & forw FArafaf@d # & fora @fast i smaegswar gdr g2
(A) @ Iron (Correct Answer) (Chosen option)
drer
(B) O Nitrogen
AT EISTeT
(C) O Calcium
hiceras
(D) O Phosphorus
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HREPRY

Question No.65 Marks: 1.00

Bookmark
Under which of the following system, the succeeding crop is sown before the harvesting
of the present standing crop?

fAFfaf@d # & o uell & T, TIATT & TsT BHel Sl HeTs § Tgel Ieldc oo as
ST 87
(A) O Crop rotation
hd dsh
(B) © Crop diversification
HHe fafaeiieRtoT
(C) @ Relay inter-cropping (Correct Answer) (Chosen option)
(D) O Sequential cropping
SR T

Question No.66 Marks: 1.00

Bookmark
is the major oilseed crop grown in Madhya Pradesh.

A Fe=T H 39S St dTell 9d fdelgeit el &

(A) O Rapeseed

9drs
(B) ® Soybean (Correct Answer) (Chosen option)

S IpICic
(C) O Mustard

g4t
(D) O Til (Sesame)

faer (faen)

Question No.67 Marks: 1.00

Bookmark
Hot water treatment of wheat and barley seed is useful for control of

g 3R S o oISt 7 1 A1t 3TAR & foraaoT & fore 39t gl
(A) O powdery mildew

ot TR (I3s{ fAesy)
(B) O cover smut

g 3 (hal THAC)

(C) ® loose smut (Correct Answer) (Chosen option)
QY F3 (I3l TC)

(D) O rust
ST (T¥T)

Question No.68 Marks: 1.00
Bookmark
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Golden rice can mitigate the deficiency of
Fqof arger T HHAT I Al A Tohdl g |
(A) O Calcium
Hiceras
(B) O Vitamin C
faerfae C
(C) O Vitamin D
faerfA=r D
(D) ®@ Vitamin A (Correct Answer) (Chosen option)
fafaT A

Question No.69 Marks: 1.00
Bookmark

Nandini is a hybrid tea type popular variety of:
sifeeh T Teh THT 1T TR T AR o fhes B
(A) @ Rose (Correct Answer) (Chosen option)

Ielld

(B) O Marigold
3rer

(C) O Gladiolus
Tofsarerd

(D) O Jasmine
SIEHNT

Question No.70 Marks: 1.00
Bookmark

Which crop is most effective in controlling soil erosion?
FET 3RE P PRIFT Tt & T Hler-ai we Fad ey §2
(A) @ Red gram (Correct Answer) (Chosen option)
ATl T (X3 TH)
(B) O Wheat
T
(C) O Cotton
U
(D) O Jute
Sl

2N

Question No.71 Marks: 1.00
Bookmark

The National Rural Health Mission (NRHM) was launched by the Hon'ble Prime
Minister in the year .

TSI ATAIT FqLT AU (TAIRTITH) I AT TeITed HAT GaRT a8 H
St foRar arar 2|

(A) @ 2005 (Correct Answer) (Chosen option)
2005
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(B) O 2000

2000
(C) O 2003

2003

(D) O 2010
2010

Question No.72 Marks: 1.00
Bookmark
Which one of the following is the first gene sequenced crop?

fAfafed & & Sia-dr gus gRno (Se) 3 iAd e 82
(A) @ Rice (Correct Answer) (Chosen option)
didel

(B) O Wheat
I

(C) O Maize
HeFohl

(D) O Bajra
SToRT

Question No.73 Marks: 1.00
Bookmark
Leaf rust of wheat is caused by fungus.

g T ok T dh o HROT gl g1
(A) ®@ Puccinia (Correct Answer) (Chosen option)

gfesfarar

9

(B) O Ustilago
3sTecern

(C) O Pseudomonas
AT

(D) O Tilletia
fefocar

Question No.74 Marks: 1.00

Bookmark
is the collection and storage of water for subsequent use in dry period.

QS ShTel 7 JeTarcit 3TN & foT uTeit 1 Harg 3R $SROT Bl
(A) O Water logging
STl Jd
(B) O Water shed
ol A
(C) O Crop logging
wa dlfa1eT
(D) ® Water harvesting (Correct Answer) (Chosen option)
I g9
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Question No.75 Marks: 1.00

Bookmark
Which of the following technique reduces soil erosion, evaporation, kinetic energy impact
of rain drops?

AFATATET 7 & -4 dTepreiten TAET ST Hers, arsdienor, STREr T §at & st Fell &
JHTT T he FAT g7
(A) O Multiple cropping
TehITUh Bl
(B) @ Mulching (Correct Answer) (Chosen option)
Afedar
(C) O Jhum cultivation
SH Wl
(D) O Strip cropping
qET Bl

Question No.76 Marks: 1.00

Bookmark
The common character of Indian Agriculture is economy.

HRAT T I AHT TR () cIaEAT |
(A) O Land scare - Labour scare
A T ST - HH AT T
(B) ® Land surplus - Labour surplus (Chosen option)
A ITRAY - 31 rTRAY
(C) O Land surplus - Labour scare
A TERAY - 57 T
(D) O Land scare - Labour surplus (Correct Answer)

& #7157 - 5 HfARAIY

Question No.77 Marks: 1.00

Bookmark
Which one of the following is the aim of Integrated Pest Management?

fAEAf@d & @ SleT-AT Thlehcl e JeereT T 3827 §72
(A) O Strengthening the host
qIyeh (1) T Iaolel
(B) O Increasing natural enemies of the pest
et & ST gewett 1 afy Fe
C)® Ktatt_api;\g pest populations below injurious levels (Correct Answer) (Chosen
option
gifAeR® Tl & A e AT F @ar
(D) O Billing the pests
&It T ARAT

Question No.78 Marks: 1.00

Bookmark
For areas terracing is an affective method of soil conservation.

&Y T AR FaATeT, FeT HIETUT T Teh YeTel T g |
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(A) O plain
Heretr
(B) @ hilly (Correct Answer) (Chosen option)
LRl
(C) O desert
HarearsT
(D) O riverine
AS TEF

Question No.79 Marks: 1.00
Bookmark
is the quickest method of plant breeding.

91T Fstetel ST HEY ool [T g1
(A) @ Mutation (Variation) breeding (Correct Answer) (Chosen option)
3cqRadd (fAeerdn) YeieteT
(B) O Selection
gded
(C) O Introduction
gRe
(D) O Hybridization
HRIOT

Question No.80 Marks: 1.00
Bookmark
method involves the use of living organisms to control pest population.

fafer # et i 3erd &t ARG Fa & forw Shfad Shat s 3uier anfae

gl
(A) O Cultural
A fds

C
(B) O Physical
ENRED]
(C) ® Biological (Correct Answer) (Chosen option)
sifaw

(D) O Mechanical
RIECT

Question No.81 Marks: 1.00
Bookmark
Slash and Burn Agriculture means:

Toter 3R Tt HiY @ HA &

(A) O Rainfed agriculture
as 3menie

(B) O Potato cultivation
3Te] T Welr

(C) O Rice cultivation
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grael &l Wl
(D) ®@ Jhum cultivation (Correct Answer) (Chosen option)

oA A Gl

Question No.82 Marks: 1.00
Bookmark
What is Green GDP?

T Sy F=AT 82

(A) O Net value of GDP after discounting the cost incurred due to man-made
destruction

AT TATH TaTRr & HROT T T AR A e & a1 SIS 7 [Hael Fed

(B) @ Net value of GDP after discounting the money earned by NRI (Chosen option)
T3S GaRT 3ifoid €T 3 B¢ & 18 ST &l fAael qod

(C) O Net value of GDP after discounting the cost incurred due to natural calamities

STehfcieh 3TUCT3HT o SHRUT T T AEIT H T & a6 SISl 7 oael Hed

(D) O Net value of GDP after discounting the cost incurred due to environmental
degradation (Correct Answer)

YOI &7 & FROT @ Y AT A Fe & a1g St #1 faga gea

Question No.83 Marks: 1.00
Bookmark
Which of the following erosion is characterized by presence of Finger like structures?

fArafaf@d & @ Sia-a1 3raves, 3erely i T3 T g HAlelg g &2
(A) O Gully erosion
3TTATTIhT 3TIRES

(B) @ Rill erosion (Correct Answer) (Chosen option)
Rer arReet

(C) O Splash erosion
FPT 3

(D) O Sheet erosion
effe 39Tt

Question No.84 Marks: 1.00
Bookmark
The pH of acid soil can be raised by adding

3rFeny A 1 drog ATt SeraT ST Tehar B
(A) O potassium sulphate
GrTRITH Hethe

(B) @ lime (Correct Answer) (Chosen option)
AT

(C) O urea
IR

(D) O sand
i
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Question No.85 Marks: 1.00
Bookmark

is the father of the peasant (farmer) movement and also the founder of Kisan
Sabha.

Fveh (fhaTeT) eIl & Sfefeh g 3N fehaTeT T & HEUIeh $iT B
(A) O Swami Vivekananda
T [gaeTeic
(B) ® Swami Sahajanand Saraswati (Correct Answer) (Chosen option)
FaTHT HEeieg GIEadr
(C) O Mahatma Gandhi
FHETeAT el
(D) O Sardar Vallabhai Patel
TIER TooTHHTS TcoT

Question No.86 Marks: 1.00
Bookmark
Which one of the following is the cause of Corn smut?

AT 3 A hleT-AT FeFch T 3 (Pled THT) T HRUT 872
(A) O Ustilago Hordei
JfEcea gt
(B) O Pyricularia oryzae
s REFgARAT 3RTSTE
(C) @ Ustilago maydis (Correct Answer) (Chosen option)
FfEeaa Az
(D) O Ustilago tritici
ifecern fefears

Question No.87 Marks: 1.00
Bookmark
Organic soils are deficient in

Sifas AT & HTHAT I B
(A) O nitrogen
AT
(B) O organic carbon
el feleh STele]
(C) @ copper (Correct Answer) (Chosen option)
HTIT
(D) O iron
3T

Question No.88 Marks: 1.00
Bookmark
Which of the following colour tag is used for Certified seeds?

gAIOIT el & forw fAefaf@a & & SIa-8 T 1 &1 39T FAT A1 872
(A) O Red
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oflel
(B) O Purple
Jaretr
(C) ® Blue (Correct Answer) (Chosen option)
Cic]
(D) © White
e

Question No.89 Marks: 1.00

Bookmark
Madhya Pradesh ranks first in India in production of

HEF 9S2T & 3cUTeaT H URA H Ugel T W gl
(A) ® soybean (Correct Answer) (Chosen option)
ArreteT
(B) O wheat
T
(C) O maize
Herehl
(D) O rice
dlidel

Question No.90 Marks: 1.00

Bookmark
In plants, photosynthesis takes place in

gyt 7 gehrer FeerwoT Hgargl
(A) O endoplasmic reticulum
3ed: YT SAfereT
(B) O golgi body
JMTestt arar
(C) ® chloroplast (Correct Answer) (Chosen option)
FARICATES
(D) O nucleus
heeh

Question No.91 Marks: 1.00

Bookmark
Helicoverpa armigera is an important pest of

gferepradt smefaRT &1 T Hgcaqul HIe |
(A) O rice
BICKH
(B) O wheat
g
(C) O maize
HeFhl
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(D) ® gram/bengal gram (Correct Answer) (Chosen option)

TAT/TTY AT

Question No.92 Marks: 1.00
Bookmark
Which of the following is the largest and most important soil group of India?

@ # & Fler-ar TR o1 T a37 3R T FAecaqoT FaT g 87
(A) O Laterite soil
AT Har
(B) O Black soll
I 7T
(C) ® Alluvial soil (Correct Answer) (Chosen option)
STellg #er
(D) O Peaty and marshy soil
dre 3IR gefeel 7aT

Question No.93 Marks: 1.00
Bookmark
Soil conservation is a process where soil is

F[CT HIETOT Ueh ishdT &, ST8T Hal gl
(A) @ protected from erosion/loss (Correct Answer) (Chosen option)
Fera/gY ¥ qRAE aeh
(B) O aerated
arfad grelr
(C) O made infertile
TR e ST
(D) O drained out
g8 ST

Question No.94 Marks: 1.00
Bookmark
Pusa Ratna is a variety of

QAT Teol & Ue e B

(A) ® mung bean (Correct Answer) (Chosen option)
#ar T

(B) O bajra
ST

(C) O rice
dldel

(D) © wheat

x

Question No.95 Marks: 1.00
Bookmark

plays a major role in energy storage and transfer of ADP into ATP
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molecules.

TENT 3707, TSI & gEATROT 3R FoiT $SROT & Ueh Y@ 37fHhT AT

gl
(A) @ P (Correct Answer) (Chosen option)
P

(B) O Mo
Mo

(C)O Mg
Mg

(D) O Fe
Fe

Question No.96 Marks: 1.00
Bookmark

Cabbage is a vegetable.
Jedrens tew Teotl g
(A) @ winter (Correct Answer) (Chosen option)
wef ()
(B) O perennial
IREHTHT
(C) © summer
T (F)
(D) O biennial
AGEURED

~

Question No.97 Marks: 1.00
Bookmark

Apple is normally planted at a spacing of
A FI HHAAR T & 3] 9T ST ST B
(A) O 1M X 1M
1Y X 1#HeT
(B) ® 4M X 4M (Correct Answer) (Chosen option)
4#YeT X 4#ex
(C)O 2M X 2M
2#IET X 2HIY
(D) O 6M X 6M
BHICT X 6HIT

Question No.98 Marks: 1.00
Bookmark

What do you mean by Poster?

GIECY § 3TIeT FIT AT 67

(A) O Audio-Visual Aid
HG-TY HEIh

(B) ® Non-projected Visual Aid that sticks on a wall or board (Correct Answer)
(Chosen option)
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IR-Frpafaed TeF wers S 0 AR A1 &1 oY g Sar g
(C) O Projected Visual Aid

AT €T HeTdh
(D) O Audio Aid

S TEIH

Question No.99 Marks: 1.00
Bookmark
Organization looks after the credit needs of agriculture and rural
development in India.

HaTeH R A T IR AT TR T hiST ITaFhT3iT T @I T
gl
(A) O SBI
THSIITS
(B) ® NABARD (Correct Answer) (Chosen option)
CICIES
(C) O FCI
THHITS
(D) O ICAR

IMSHTIR

Question No.100 Marks: 1.00
Bookmark
Why Black soil is ideal for cotton cultivation?

HUTH FH Tt & forw el fALT a7 3meei 82

(A) O ltis sandy soil
UEEGICIRE ]

(B) O Itis black in colour
Ig a7 3 hlel gl &

(C) @ It can retain moisture (Correct Answer) (Chosen option)
Y AH THIR I Tohell B

(D) O ltis found on plateau regions

Ig IBRY 8131 O Ty STl & |
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